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For use with pages 215-222

Decide which of the two points lies on the grabh of the line.

1. 2x+y=10 _
a. (4,3) b, (—4,18)

Solve the equation for y.

4., —6x+y=11

7. ~dx+2y=16

Graph the equation.
10, y+x=14

¥ .. '

3. y—x=9
Ca. (5,1 b (1,5

2. x—3y=12
a2 (9,1) b.(6—2)

6. 6x — 3y = -9
= z 2. N~ - )
(B taes| gt (03

"CS. 3x'-l-2y=—8.
. -:2,% . — Y

8. 10x — 5y =25

Ly e
gz -3t

= "% -b‘ﬂn* '- (D>

11. y—5x =2 12. 2y —4x =10
5 o NIy
6 3
2 2
_2“2 ) 6 X _2;2 2 6~
14. y=4 15. 3x—2y=10
: , Do SR,
o]
T 3.
) :
1
—6 u_zlz bl X
- -1 -3
B S|
]
J
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Name

S ‘ LEII.?S%N Practice continuer
i - For use with pages 215-222

Graph the function with the glven domain. Then identify the range of
. the function. : .

!,.
!

16 :y 2x — 2; domain: x20

;\‘4., -

y

A

Ay

tatge: 4z "2

8. y =3 domain: x <2

Date

17. y = —3x + 1; domain: x <0

Y]

y

-

—_—

L]

Lh

— | I S— WM‘L —_—

_ Identify the range of the func’tion wuth the given domain.

- 20. x + 3y = —8; domainx >0

21.

" 22. Bicycle Rental A bicycle rerital shop rents bicycles for,-$8 per hour.

The total cost ¢ (in dollars) for renting a bicycle A hours is given by

the function ¢ = 8. Once you get to the rental shop, ydu figure you

can rent a bicycle for at most 5 hours. Graph the function and identify
- its domain and range. What is the most that you will pay fOt renting

the bicycle?

Algebra 1
Chapter 4 Practlce Workhook

19."y= —1; domain: x =2 —1-

6x — 3y 9; domain: x<1

Cost (dollars)

Bicycle Rental

c
50
40
a0
20
10

0

0 1.2 3 4 5 h
Hours

Copyright @ by McDougal Littel], a division of Houghton Mifflin Company.
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- Name

Practice
For use with pages 225-232

Date

Find the _x—intercépt and the y—inter'cept'of the graph of the equatiph._

1. xt+ty=1.

a4 Sx+ IOy = 30

7. Tx+ 8 =18

Draw the line that has the given intercepts.

10. x-intercept: 5
y-intercept: 4

¥

“Algebra 1 .
Chapter 4 Practice Workbook

2, x—y=-5

5. 9y——5x=20

8. 2y—12x=—6

11.  x-intercept: —1
- y-intercept: 6

3. 6x—-3y=-3

i

g'f 6:"\‘-}‘83; — 2y =16

it Yonkrepds
ThES _ X =D

gy zato)= e | ?C@wzq: e

-2 =

12. x-interéept: 2
y-intercept: —3

y i

Copyright © by McDougal Littell, a division of Houghton Mifflin Company.‘
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Name

LESSON ":Pﬁ'actice continued

4.4 For use with pages 234-242 .

Fmd the slope of the line that passes through the points.

,10. ; ,11 ;
| yd ’ ] . 5\\ 1 ‘
""/ | | (5r3)
P -' (—2,00N_ | L | 3%
2, N1 ' Y
b= 11 ) ~
4 Y N
14 3 x
HIER
NN
e e
13. 5 T 14. '5 7
hANNE | P el
(““‘1,2) \‘ N //3 .
l ™ d
—'1_1 ™ x {(—4, 2} .
T i
NEN -3 171 x
N P

Find the slope of the line that passes through the points.

18. (1,2)and (7,7) 17. (3, 4) and (5, 0)

—CL ﬁ?

20. (=7,Dand(1,5)

18.

(-3,3) (2, 3)

L)

{2, —3)

“m= \mdeﬂna{

(5, ~2) and (5, 8)

(2, —5) and (5, )

9. (3] Tyand (=5, 3) 21
22. (3,0)and (8, 0) .23, (6, —6) and (~2, —2) ’;\za.v(—s, ~4yand (1, —2)
_ | . | ‘ o .Q!I"””ff "‘&J—(_‘{—L{':Q ,,2-_
MR — 3
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~ 32. Postage Rate The graph shows the cost (in dollars) _ T E. T T Tzooz 057
to mail a letter that weighs one ounce durmg £ 0.4 —F(1995, 0.32) {1999, 0.33) o
T 03 oeet—0 ' -
certam years. - | 3 o 111557 029 {2001, 0.34}
a. Determine the time interval during which the § 0.1
‘ ‘ 0.0
cost to mail a one-ounce letter showed the Ndmer 57 1959 1996 1955 2000 3003
greatest rate of change.  Year
b. Determine the time interval during which the
© cost to mail a one-ounce letter showed the least rate of change.”
33. Heart Rate The graph shows the heart rate of - = 130 12,1200 ] T
a person during 30 minutes of exercise. Give a 5 120 129 | (24,116}
verbal description of the workout. % g 110 - (18, 118),
: £ g 100 ——gia {30, 106)
2w 9
§ 0 {0, 80 ;
[
: 0 6 12 18 24 30
" Number of minutes

Name : - ' - Date .

LEI.SSEIN Pra Ct’ ce cantfﬁhed
. | For use with pages 234-242

Find the value of x or ¥y so that the line passing through the two pomts :
has the given slope. :

. cq;oy F%m—l‘Z&(—Lﬂajxmzék721(&&04%m=—L
2~ (-4 g
3 +9
28. (x,—7), (1,2 m =

SCnéﬂ"ﬂz— A= 3
1985 | 1990 | 1995 | 2000 '
676 | 832 | 885 | 951

31. Trolley Bus The table shows the
number of trolley buses in operation in
the United States during certain years.

a. Describe the rates of change in the number of buses during the time period.

b. Determine the time intervals during Whlch the number of trolley buses showed
the greatest and [east rates of change o _ . ,

Algehra 1
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Name ' Date’

Lﬁsém Practice comiwer
= For use with pages 253-259

13, . il : 14, [ RE | _ 15. ] X ¥
| - |l 2 - {-1,5) ‘
1 // N ‘ \ ‘
-3 x \
’ i 1 3 x \
H . //‘.*l
TN
16. X 17. ' y 18. Ty
3 : ] —3
(=3, 1) _ G | @,
! : L g
s _3 - x L
T ] x (-2, -2 e i 3 1 x
: 1 —i-1
[y R

Tell whether the table represents direct variation. If so, write the direct
variation equation. ' '

20

;\,\"9) 05(3 | =2 (1| -8 | 3| -2 |10

12| —-08 | 4

18

T 2B -
= 55

et o dved canation:

Given that y varies directly with x, use the specified values to write a
(glirect variation equation that relates x and y. ' '
'-_@jz%x::zz;,y—s . @ x=—16,y=-4 25, x=28,y=

- \

Algehré
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Name Date _

lilss%N Pﬁl‘a ctice cominved
Fa For use with pages 253-259

26. x:AS,yr=f30 27. x=%,yé1 28. x=8,y=-3
28. x=06,y=102 . 30. x='—8,yz'6'4' - R x:15?y=9

32. Hooke’s Law The force F required to stretch a spring varies directly with the
- amourt the spring is stretched s. Eight pounds is needed to streich a sprmg
8 inches.

a. Write a direct variation equation that relates F and s. .

b. How much force is required to stretch a spring 25 inches?

Basement Waterproofing. One way to keep moisture out of your basement is to paint
' the walls with a waterproof paint. The number g (of gallons) of paint you need varies
directly with the area 4 of the basement. One gallon of paint covers 100 square feet.

a. Write a direct variation equation that relates gand 4. -
L=t004  g= Lo @ ¢> 1
‘%}_ _______ g=- D 97 iw
b. How many gallons do you need to cover 530 square feet?

jo 220 . 53 qablovws | g L&MJ of [SJ 5 ““/“”m J .

¢. How many square feet does 8.5 gallons of paint cover?

won 557 B 10 [ A= 5D s

Downloading Files The table shows the amount of time ¢
(in seconds) it takes to download a file of size s (in kiiobytes). '

Expl hy s varjes direct] w1th f.
a. uxprm_nw y ? M A ﬁb‘ _,F,@f sach

b
W

b “ﬁlf:&imjai%
¢. How long will it take to download an 800'~ki10byte file? g{_c___‘ul%’:
Round your answer to the nearest second, ‘ 28 2§

ft:Zﬁ;&smL/
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